HeRR

No BHig Fn X POLEIEES AERG BARTH
1 3/24 Kk 19:05 Y—IR—X =M IN= A 3/18 R
2 | 3/27 £ 1'3:85 BMITLATo+r—)7—X IN= A 3/18 K
3 | 3/28 H 1'3:85 BMITLATO+r—)7—X IN= A 3/18 K
4 | 4/10 =* 1'3:85 RENYF)—X IN= A 4/4  H
5 [ 4/11 H 1'3:85 RENYF)—X IN= A 4/4  H
6 | 4/21 K 19:05 RENYF) =X IN= A 4/15 K
7| 4/24 =+ 1'3:85 HELA VAR —X IN= A 4/15 K
8 | 4/26 H 13:35 HELA VAR —X IN= A 4/15 K
9 5/6 K 13:35 KT TzyH IN= A 4/28 K
10| 5/8 £ 13:35 BMITLATOr—)7—X IN= A R 4/28 K
11 5/9 H 13:35 BMITLATo+r—)7—X IN= A R 4/28 K




